KEY NOTES

11 12CA. HANGER OR DIAGONAL SPLAY WIRE IN PUNCHED
OR DRILLED HOLE

19

21 12GA. WIRE WITH 4 WRAPS IN 1 1/2" (TYP.) WIRE TO
RUN PERPENDICULAR TO MAIN TEE

31 MAIN RUNNER

14] MNZ ’ 17|21
\ L 8" MAX. _ — 3 22

= \ % f > T | f N i SEE DETAILL 3 4| 1/8%¢ POP RIVET TO EACH T—BAR
Tol— ] ‘ “1 &7’ 1 ‘ 2 5| WALL ANGLE
" 5 6] 6d 16” @ FRAMING TO WALL STUD

A . o 7 13 #8 S.T.S.M.S. WHEN METAL STUDS ARE USED

) 7| ANGLE WITH 1/8"@ POP RIVET TO EACH T—-BAR NO
. NOTE: CONDUIT MAY BE CRIMPED ON EITHER , CONNECTION TO WALL ANGLE
6 _ SIDE OF T-—-BAR, DEPENDING UPON CONDITION & LOCATION Y 81 ToP PLATE

SIESMIC SPLAY - 4 WAY 9| #10 S.TSMS. @ 4 OC.

10{ 3" X 1/4" EYED SCREW. 1/8"¢ X 2" JIF~-E SCREW

TYPICAL HXED SIDE ALT. CONN. AT BOTTOM | WHEN METAL STUDS ARE USED

11 HANGER TO WALL WHERE NO RAFTER ABOVE
MAX SLOPE 1" IN 6"

12| 28 GA. JETCOAT

ALTERNATE

FILE PATH: PC270A71.DWG

13| CROSS TEE

@ MOD JOINT

14| 12GA. HANGER WIRE AT THE END ON EACH RUNNER

MIN. 4 WRAPS IN MAX 1 1/2" — SEE DETAIL #5 FOR WIRE
FREE SIDE | TO PURLIN ATTACHMENT

|
- ; - 14 15| MAIN RUNNERS OR CROSS TEES

FREE SIDE

——*p

RS
rhe

ik

3 MAX

9 16| ACOUSTICAL BOARD

23

; uax g ¢ 17] FINISH WALL

HORIZONTAL STRUTS SHALL RUN CONTINUOUS AT ALL
J 18] PERIMETERS, NOT POP RIVETED TO THE WALL ANGLE

Ny

ARMSTRONG #7425 OR #7445 WITH SPRING STEEL
SNAP TO RUNNER PER 47~4

12

19| 3/4" EMT CONDUIT — MAX 5'-2" (COMPRESSION STRUT)

NOTE: LAY—IN CEILING TILE NOT SHOWN FOR CLARITY. CRIMP CONDUIT AND ATTACH TO RAFTER WITH -
~ 20} (2) #8 TEK SCREW

GR!D AT MOD LlNE 21| PROVIDE SPACE AT ALL MEMBERS AT OPPOSITE WALL

SCALE 3"=1’
CRIMP CONDUIT AND ATTACH TO - T—BAR GRID

22] WITH #8 TEK SCREW

'
&

23| ROOF BEAM SEE G

24| ROOF PURLIN SEE

8'

'jl MAX 14 ; .‘., /-‘ 17 _i‘
Z Ho 10 ; ’ | ' 76| CAREZY GYP BRED.TO TOP PLATE FOR FIRE BLOCK INCs «

\ 25 4 8 MAX. 24 I 20
t - 1/2" CLEAR o — k ...._._.........1(
/2" 1 1=1/2" MiNe 19

6 'ﬁ_ﬁ.

A

-

./"‘T

[}

{
{

4 ¢ ‘
17 15 é ! - ! }
iﬁi‘:x\i'f tm;ix tiuw

L oy ,
ALTERNATE NOTE: CONDUIT MAY BE CRIMPED ON EITHER SIDE | oHct of REGULAN
- r OF T—BAR DEPENDING UPON CONDITION & LOCATION % ;

1

|

TYPICAL FREE SIDE _(

PROJECT NO.

wr T T N P I D D S T Y g YT T Yo P DA Y S S ST oy ’ R
TRIEY 1981} N $] Electrical  Enginesr's Ssol Mechanical Engineer’s Seal

A
PN
YN
A
AN

" . . PRGN R - G

PROJECT NUMBER: | @© MODTECH, INC. 1999 DRAWN BY: RVF

MODTECH INC. i

DATE:
2830 BARRETT AVENUE HRBIEEH wo &
PERRIS, CALIF. 92572 S — ;,

A GBS REFTECTED cELNG DETALS | A7.]

rStn'xct;rmmEngmw's Seal Architects Seal

!

"PC—270




